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that work in the brain as antagonists to certain chemicals have caused

psychological disturbances in patients, which may limit their

potential to relieve severe pain.(A) which may limit their potential to

relieve(B) which may limit their potential for relieving(C) which may

limit such analgesics’ potential to relieve(D) an effect that may limit

their potential to relieve (E) an effect that may limit the potential of

such analgesics for relieving107. American productivity is declining

in relation to Europe’s. the energy expended per unit of

production in the United States is as much as twice that expended in

West Germany.(A) as much as twice that expended in West

Germany(B) as much as twice that of West Germany’s

expenditure(C) up to two times of West Germany’s

expenditure(D) up to two times what West Germans expended (E)

up to double the West German expenditure108. Textbooks for the

used book sale should be in good condition and should have no

writing in them or be underlined.(A) and should have no writing in

them or be underlined(B) and should not have writing in them or

not be underlined(C) and contain no writing or underlining(D)

without containing writing nor be underlined (E) without having any

writing or no underlining in them109. Some analysts of retirement

problems insist that the only way to provide equity and protection

for all Americans is to amalgamate all retirement-income systems,



including Social Security, into one central system.(A) insist that the

only way to provide equity and protection for all Americans is to

amalgamate(B) have insisted the only way equity and protection can

be provided for all Americans is amalgamating(C) insist the only way

to provide equity and protection for all Americans is the

amalgamation of(D) are insistent that the only way equity and

protection can be provided for all Americans is the amalgamation of

(E) insist that the only way for the provision of equity and protection

for all Americans is to amalgamate110. Eaten in the Mediterranean

countries, northern Europeans viewed the tomato with suspicion, for

they assumed it had poisonous properties because of its relationship

to deadly nightshade.(A) northern Europeans viewed the tomato

with suspicion, for they(B) northern Europeans were suspicious of

the tomato, and they(C) the tomato was viewed with suspicion by

northern Europeans, who(D) the tomato was suspicious to northern

Europeans, and it was (E) the tomato was viewed with suspicion by

northern Europeans, it being111. Too old to bear arms himself,

Frederick Douglass served as a recruiting agent, traveled through the

North to exhort Black men to join the Union army.(A) traveled

through the North to exhort(B) and he traveled through the North

and exhorted(C) and traveling through the North exhorted(D)

traveling through the North and exhorted (E) traveling through the

North and exhorting112. Industrial pollution has done seriously and

possibly irreversible damage to the bronze horses on the facade of the

cathedral of St. Mark La Venica.(A) has done seriously and possibly

irreversible damage to(B) did damage that is seriously and possibly



irreversible to(C) damaged, serious and possibly irreversibly(D) has

done serious and possibly irreversible damage to (E) did damage,

serious and possibly irreversible113. Although aspirin irritates the

stomach, it can be avoided if the aspirin tablet is given a coating that

will not dissolve until the tablet reaches the intestine.(A) Although

aspirin irritates the stomach, it(B) The irritation of the stomach

caused by aspirin(C) The fact that aspirin causes irritation of the

stomach(D) Aspirin causes stomach irritation, although it (E)

Aspirin irritates the stomach, which114. Repelled by bodily

punishments such as maiming and branding, the idea of

penitentiaries were reforms of the penal system by Quakers.(A) the

idea of penitentiaries were reforms of the penal system by

Quakers(B) penitentiaries were ideas for reform of the penal system

suggested by Quakers(C) Quakers suggested the penitentiary as a

reform of the penal system(D) Quakers suggested that the penal

system be reformed as penitentiaries (E) the penitentiary was

suggested to be a reform of the penal system by Quakers115.

Although the phenomenon of withdrawal has always been the crucial

physiological Leng for distinguishing addictive from nonaddictive

drugs, it has become increasingly evident that not all regular heroin

users experience withdrawal symptoms.(A) addictive from(B)

addictive and(C) addictive or(D) between addictive or (E) among

addictive or116. Several recent studies suggest that a child born into a

family whose members have allergies will probably themselves

develop allergies following the onset of a minor viral infection.(A) a

child born into a family whose members have allergies will probably



themselves develop allergies(B) children born into families whose

members have allergies will probably themselves develop allergies(C)

a child born into a family the members of which have allergies will

probably develop an allergy(D) in those families where members

have allergies, children will probably develop allergies themselves (E)

children born into a family in which there are allergies will themselves

probably develop an allergy117. No less an authority than Walter

Cronkite has reported that half of all Americans never read a

book.(A) No less an authority than(B) Nonetheless an authority(C)

Nevertheless authoritarian(D) Not less an authority than (E) An

authority not less than118. Scientific interest in providing suitable

habitats for bottom-dwelling animals such as river clams arises not

because they are important sources of human food but from their

role as an integral link in the Aquatic food chain.(A) not because

they are important sources of human food(B) although they are not

an important sources of human food(C) not in that they are

important as human sources of food(D) not from their importance

as a source of human food (E) not from being important sources of

food for human beings119. Automation has undermined the

traditional position of labor as much by robbing workers of the

special Skills that were once their most important strength than by

the elimination of jobs.(A) than by the elimination of jobs(B) rather

than by the elimination of a job(C) than by eliminating jobs(D) as by

the elimination of a job (E) as by eliminating jobs120. In 1980, for

the first time, the number of foreigners touring the United States

were in excess of the number of Americans going abroad.(A) were in



excess of the number of Americans(B) had an excess over the

Americans who were(C) exceeded the Americans who were(D)

numbered more than the Americans (E) exceeded the number of
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